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Note :  Answer five questions. Question no. one and five are compulsoy. in addition 16
these quesiions, select at least one question from each part. Al JUCSTIONS Carry
equal marks.
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(a) Define irrigation, state advantages and disadvantages of irrigatior.
(b) Explain lift irrigation and flow irigation. Differentiate between lift nrigation and
flow inigation.
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(a) Define Gross Command Area, Culturable Command Atvea, Unculturable area,
Culturable Area, Intensity of Irrigation, Capacity Factor, Crop R 1o.
(b) Establish relation between Duty, Delta and Base.
A channel is to be designed for irrgation 5000 ha in iCharif crop and 4000 ha in
Rabi Crop. The water requirement for Kharif and Rabi crops are 60 cm and 25 cm
respectively. The Kor period for Khani 1s 3 weeks and for Rabi is 4 weeks.
Determine the discharge of the channel for which it is to be designed.
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Whai are different typas of rain gauges 7 Describe any one with a neal sketch,

What is Runofl ? Whad are factors affecting Run-off ? Write Dicken’s and Ryve's

farmula for estimation of Peak Flow (Flood Discharge).
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Define Aquifers (Unconfined aguifers and confined aquifers), Perched aquifer,
Aquicludes, Aquifuges. Specific Yield, Specific Retention, Coefficient of
Transmissibility.

Explain Constant level Test and Recuperation Test for yield of open well.
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Write about Inundation canals and Perennial canals. Write difference beiween

Inundation irrigation and Perennial irngation.

Explain different paris of irrigation canal with neat sketch.

e T ] = J4 cumec
3irge =7 (WEEEE) = 0.80 m/sec.

€ U = 1 in 5000
e BT = Fii
= et O = 44 18

(]



(F) T 3RSl % ST U AT S N8 T ( SR F167) 7 U Ee Fa i | 15

TFET T = 4() cumec
A A a1 =095 mfsee
SEIUGRITIE 21T T (B e N = 0.0225
e g =] 4
B/D HAur =06.5

(a) Design an irrigation canal with the following data
Discharge of canal = 24 cumec
Permissible mean velocity = (.80 m/sec.
Bed slope = | in 5000
Side slope = el
Chezy’s constant C = 44

(b)  Find the bed width and bed slope of a canal with the following data

Discharge of canal = 40 cumec
Permissible mean velocity = 0.95 m/sec.
Coefficient of rugosity (N) = 0.0225
Side slope = 1:1
B/D ratio = B35
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(a) Explain components / parts of Head works and also draw neat skeiches.

(b)  Whrite difference between Weir and Barrage and explain Bligh’s Creep theory.
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(a) What are spillways ? Explain types of spillways with neat diagrams.

(b)  What is meant by cross drainage works 7 Explain types of cross drainage works
with neat diagrams.
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